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For each question from 1 to 30, four o
answer. Make your choice

Section A (60 MARKS)
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the Optical Answer Sheet.

1.

ptions are given. One of them is the correct

(1, 2, 3 or 4). Shade the correct oval (1,2,3 or4) on

The table below shows the conditions of four imaginary planets.

Planet A Planet B Planet C Planet D
Presg;ce of Yes Yes Yes No
Average ° a o o
| Temperatures 28°C 58°C -8°C g°C
Presence of Yes No Yes No
water

Which one of the following planets is suitable for

in?

(1) Planet A
(3) Planet C

(2) Planet B
(4) Planet D

living things to survive

The diagram below shows the different phases of the Moon as seen from
the Earth for a particufar month.

Which one of the following is the correct sequence?

(WE>B3D>A>C
2QB>C>E>D>A
B)C>E>A>D->B
A BOSD>E>ASC

(Go on to the next page)
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The diagrams below show two plant cells.

i N ///‘\

o

S——

!f .

|
| ®o . @
i 0 \_/ S
- s
Cell P | CellQ

Which of the following can P and Q possibly be from?

Cell P Cell Q
(1) Apple skin Paramecium
(2) Elodea leaf Onion
(3) African violet leaf Hibiscus plant leaf
4) Potato Human

‘Hicia viewed a letter “e” under the microscope.

e

Which of the following shows the correct image she would see under the
microscope after magnification?

1 € @ e
3) 9 | (4) 6

2 {Goon to the next page)
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Jacob soaked 40 green bean seeds in water at different temperatures for
eight hours. He then recorded the number of seeds that germinated in the
graph below.

Number of green
bean seeds 4
germinated

40+

30+

20

1071 -

[]

10 20 30 40
Temperature (°C)

h 4

Which of the following are possible conclusions of this experiment?

A. Different temperatures affect the germination of green bean seeds

B. 30°C is the best temperature for the germination of green bean
seeds

C. The number of green bean seeds affect the temperature of
germination

D. Overcrowding of seeds affects the number of green bean seeds
germinated

(1) Aonly {2) A and B only

(3) Band C only (4) A,B,CandD

3 {Go on to the next page)
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6. Three different types of plants, X, Y and Z with fruits, were found
dispersed as shown below after a few hours.

Legend:
@ - Parent Plant

- -Dispersed Seed -

What are the likely characteristics of the plants?

X Y Z -
(1) Has wing-like Has a har_d outer Dries up when ripe
structure covering
(2) {Has ﬂeshy_ and juicy Has small, light Abie to float
fruits seeds
) Hairy and light Has air spaces Large seeds
(4) Has stiff hairs Has a wing-like Splits open when
structure dry

4 (Go on to the next page)
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7. The diagram below shows 4 ex

perimental set-ups. They are all placed
under the sun. '

Chemical to
absorb carbon
dioxide

| clear
black glass
painted glass
. Chemical to
- Chemical that absorb carbon
] =d=-== absorbs carbon 4 1‘—‘---} S dioxide
Set-up A dioxide Set-up B -
black
A 4 clear
painted glass
glass
{ / T o= -
Set-up C

Set-up D
Which pair of experimental set-ups would you use to show that carbon
dioxide is essential for photosynthesis?
(1) Aand B

(2) BandC
(3) Aand C (4) Band D

{Go on to the next page)
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8. The diagram below shows the stages of growth of a plant.

Seedling Flower

“D\ Socs l ./C~

At which stage(s) do(es) fertilisation take place?

(1) Bonly {2) Conly
(3) Band C only - (4) A and D only
9, Study the chart below.

Start

|

' - ) No l
Does it reproduce sexualiy? » P

Yes]
B No
Does it lay eggs? Q
Yes
. - No
Does it fertilise internaily? _ R

Yesl

S
Which letters in the chart represent the frog and the paramecium
correctly?
Frog Paramecium
nH Q S
(2) P R
(3) S Q
4 R P

6 (Go on to the next page)
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10.  Which sequence correcily describes the flow of energy in our natura!l
environment?

(1) carnivore ——-—» herbivore——» plant ———— 4 Sun
(2} carnivore ——» plant — herbivore ———» Sun
(3) Sun —————+ camivore———» herbivore —— plant
(4) Sun — plant —————— herbivore —__ carnivore

11, Which of the following statement(s) about exhaied air is/are correct?

A. 1t has more carbon dioxide than oxygen.
B. It has less water vapour than inhaled air.
C. Itis usually warmer than the surrounding air.

(1) Conly {2) A and B only
{3) Aand C only M)A BandC

12, Study the diagram below.

-
- Protess 7 j\
Takes place in M\_ Takes place in all

the cytoplasm e :
of the living cell l living things
Takes place all the
time

Which of the following equation(s) best represent(s) Process Z?
A Water —» water vapour —» water droplets

B: Water + carbon dioxide —» glucose + oxygen
C: Glucose + oxygen — carbon dioxide + energy + water

(1) Bonly (2) C only
(3) B and C only 4)A, Band C

7 {Go on to the next page)
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13.  Arun has set up the circuit as shown in the diagram. The bulb does not
light up.

switch arm

What should he do to make the bulb light up?

A. Change the bulb.

B. Change the battery

C. Connect the wire to Yinstead of X- Z

D. Connect the switch arm to X instead of ’&

(1) B only (2) Conly _

{3) C and D only (4) A, Band D only

8 {Go on to the next page)
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15.
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The wiring plan of an apartment is represented in the form of a c:rcurt

diagram below.

W
fan
>
Power X
supply v
F——0—
oven
television

The switches W, X, Y and Z were closed and all three electrical
appliances were working.

Which switch must be opened to allow only the oven and felevision to

work?

(1) W
(3) Y

(2) X
“4) Z

The diagram below shows five bulbs connected by two batteries.

-

A

S

A

e

(S

One of the foilowing bulbs is not working and as a result, none of the bulbs
light up. Which bulb is not working?

(1) P
3) R

) Q

(4)

S

(Go on to the next page)
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16. A circuit card is tested with a circuit tester. The results are given in the
table below.

Clips tested Does the bulb light up?
Aand C No
Band E Yes
Eand D Yes
Cand D Yes

Based on the results shown in the table above, which one of the following
is a possible arrangement of the wires on the circuit card?

(1) (2)
A A
B £ B E
= _
g ——
C D

> 4)
Y AV
B E B E

()

10 (Go on to the next page)
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18.
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The diagram below shows four circuits with different arrangements of
identical batteries and identical bulbs. The bulbs in all four circuits light up.

At any time, the brightness of three bulbs
Which one of the followin

S?

(1)
(2)
3
(4)

was compared.
g shows the brightness of the bulbs P.Q, R and

Brightness of hulb
High Medium Low
s v Q P
R S Q
S v R Q
R Q P

Which one of the following set-ups will enable both bulbs to light up?

M

2

11

(Go on to the next page)
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19.  The diagram below shows 4 bulbs C, D, E and F in a circuit thatis
connected correctly.

C

A

S

g Copper
spring
Glass rod
D - 2
Bar magnet £
Gold ring - @\

Which of these bulbs will light up?

(1) Cand D only (2) C,EandF only
(3) Ali of the bulbs {4) None of the bulbs

.20.  Which of the foliowing electrical device(s) break(s) the electrical circuit
2 when the current flowing through them is too large?

A. Circuit breaker
B. Fuse :
C. Electricity meter

(1) A only {2) A and B only
(3) Band C only (4) A BandC

12 (Go on to the next page)
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Study the flow chart below.

Batteries
in series Bulbs light up H
\N Bulbs in
P sertes
Builbs do not - J
light up
Circuits -
Bulbs light up K
Buibs in i
series
/ Buibs do not - L
light up

Batleries
in paraliel

Which of the following matches the circuits shown in the table?

= - = 1]
I
—
a H J K L
@) K L J H
(3) K J L H
) H L J K

13 (Go on to the next page)
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22.  Which one of the following loads can be lifted with an effort of 60 g?

A Effort

B: Effort -
09 A _
— C: Effort
€09 A
{1) A only (2) C only
(3) Aand B only (4) B and C only

14 {Go on to the next page)
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24.
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When two equal forces are applied to a hexagonal box, it turned in the

direction shown below.

(“\

Direction of
rotation

Which of the following shows the forces that have acted on the box?

(1) Q\ 2 ~

(3) (4)

™~

The diagram below shows two groups of children playing tug-of-war. Each
group needs to get the ribbon on the rope over to their side in order to win.

-
Group A l—starting line  Group B

Why is the ribbon stiil at the starting line even though both groups have

been pulfling the rope for some time?

{1) There is no force acting on the rope.
(2) The force exerted by each group is equal.

(3} Group A is exerting more force than Group B.
(4) Group B is exerting more force than Group A.

(Go on to the next page)
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25.  The graph below shows the distance moved by the effort and load of a
certain simple machine.

Distance
moved by
effort (cm) 30 [T
= - 20 [ g
wof-—> 1
§ . _ Distance
0 10 20 30 moved by load
- (cm)

Which one of the following simple machines represents the graph shown

above?
(1) (2)
3) (4)

16 (Go on to the next page)
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26.  Study the diagrams below. Each shows a suspended lever which is
balanced by an object and a 400g weight. Which obhject, A, B, Cor D is
the lightest?

(1)

(3)

400g __A_l

400g c

)

(4)

400g I 8 ,

400g D

27.  The diagram telow shows a set of gears. Gear E moves in an anti-

clockwise direction.

Which of the following deécribes correctly the direction and speed of
rotation of Gear F?

(1
(2)
(3
“)

Direction of Rotation Speed of Rotation
Clockwise Fastest
Clockwise Slowest

Anti-Clockwise Fastest
Anti-Clockwise Slowest

17

{Go on to the next page)
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29.
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Mohan experimented with different wheel sizes when he was designing
a wheel and axe system. He recorded his findings in the table below.

Diameters (m)
Systems
Wheel Axle
A 20 S
8 50 5
C 10 10
D 5 50

Based on his record, which set of wheel and axle should he use fo apply
the least force?

(1) A (2) B
3 C 4 D

Karen wanted to find out if the slope of a ramp affects the distance
moved by a matchbox by using the force of a roiling battery.

Battery
Ramp

Books o

NN

@‘* Matcnbox

Which one of the following variable must be changed to conduct the above
experiment?

(1) Brand of battery

{2) Size of matchbox

(3) Type of surface of ramp
{4) Number of identical books

18 {Go on to the next page)
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30.  Jamie used a gear system which consisted of two gears of different sizes
to determine the relationship between the numbers of turns of the two
gears. He drew the following graph based on his results.

Numberof 35

turns of _.
Gear A 4 — =
3
2 ——

c 1 2 3 4 5 Number of
turns of Gear B

Which one of the following gear system did Jamie use for his
investigation?

(1) (2)

O, |

12 testh
ee 8 teeth

16 teeth 16 teeth

(3 . (4)

. 12 teeth 8 teeth
12teeth 10 teeth

19
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SECTION B {40 MARKS)

For questions 31 to 46, write your answers in the spaces provided.

31.  The graph below represents the relationship between the distance from the
sun and the time taken to revolve around the sun once for the planets, E, F

and Z

@ il z

Y

Distance from the sun (million km)

(a) Fill in the correct heading in the given box above. {1}

b) In which planet would the temperature be the lowest? Explain your answer. [1]

32.  Refer to the diagram below:.

(a) Ma;?/with an ‘X' garthe diagram above to indicate where a young plant could
groyv. {1]

(b) Indicate with an arrow where the young plant is able {o obtain food and water
before it has leavesfrﬁv
20 (Go on to the next page)




33.

C)

(b)

(c)

(d)
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Mastura set up the experiment shown below in a dark room. She noticed that
air bubbles appeared at the top of the test tube after some time. She counted
the number of bubbies produced at the end of two hours. She repeated the
same experiment twice, each time using a different coloured light bulb, W, X,
YandZ '

7— Test Tube-

—~

§— Tap U\J@%e/

1 Hydrilla

What is Mastura trying to find out from this experiment? [1]

Which variable is changed in this experiment? [1]

What ére the air bubbles produced in the test tube?/[/‘l/}

Mastura recorded her results in a bar graph as shown below. -~ |

Number ofJ
bubbles |
produced

L > Type of
w X Y Y4 coloured light

Which coloured light shows the highest rate of photosynthesis? Give a reason
for your choice. 1),

21 (Go on to the next page)
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Sheila studied the feeding habits of three different animais A, B and C. The
animals were placed in separate enclosed tanks and were given a sufficient

supply of water. Grains that are consumed b
together with the mealworms in a dish and
animals. The food was weighed at the start a

the masses were recorded in the table below.

y meaiworms as food, were put
put in the tanks as food for the
nd the end of the experiment and

[ Mass of grains (g) Mass of mealworms (g)
Animal Start of End of Start of End of
experiment experiment experiment experiment
A 50 50 50 20
B _ 70 30 70 50
C 90 60 80 80

Witat would happen to A, B and C if only grains were given over two weeks?

[

Fill in the boxes beiow to show the ene

tank which contained animal A. [1]

22

rgy transfer that had takcen place in the

(Go on to the next page)
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(a)

(b)

©
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The diagram below shows experimental set-ups A and B.

Tightly-closed
jars

Pot of soil

Dish A Dish 8

Set-up B

The set-ups were placed in a dark cupboard. After two days, it was observed
that the limewater in Dish A had turned chalky but the limewater in Dish B
remained clear.

Why did the limewater in Dish A turn chalky? {1}

What is the purpose of having set-up B? {1]

Would the result be differerit if the set-ups had been left under the sun rather
than in the cupboard? Explain your answer. [1]

23 {Go ori'to the next page)
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36. An experiment was conducted to invesligate the effect of varying light
intensities on the rate of photosynthesis in two plants. One of these plants was
taken from the open garden while the other from the shade.

Light intensity Rate of photosynthesis
(units) L
Plant R Plant S
10 7 12
20 15 31
30 24 49
40 33 52
50 44 55
60 50 56
70 57 56
80 62 56

(a) State the refationship between light intensity And thé rate of photosynthesis for
both plants at light intensities up to 50 units. 1]

(b)  Which plant was taken from the shade? Explain your answer. [1)

(c)  Besides charging fhe inceasity of fighly peeritify andther varEBI whidhy witen
changed can affect the rate of phetosynthesis in both plan(s. [1]

24 (Go on to the next page)
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37. A pupil carried out an experiment using the experiment set-up shown in the
diagram below.

(a) The lemon with the zinc and copper xods replaced a component in the .
electrical circuit. What is this componeny? [1]

{b) The pupil carried out the experiment again using a potato. He observed that
the bulb was dimmer than before.
What conclusion can the pupil draw from this observation? 4

25 (Go on to the next page)
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38.  Qing Qing set up the circuit as shown in the diagram below.

A (S [
—& L 2 w
L3
"
o |
L4 ®
i C

She had three rods X, Y and Z of unknown materials. She placed them in
positions, A, B and C on the circuit respectively. _

The results of the experiment were shown in the table below.

Positions where rods were placed Did the bulbs light up?
A B C L1 L2 L3 L4
X Y Z | Yes No Yes No

Based on the results, her brother-Bing Bing made the following statements.
Put a tick (v} in the appropriate boxes to indicate whether the statements are
‘True’, ‘False’ or "Not Possible 1o Tell". 12]

Not
Possible
to Tell

Bing Bing’s statements True False

(a) { Y is made of iron.

(b) { L1 is brighter than L3.

if L4 is removed, L2 will be
lit now.

{c)

(d) X and Z are non-
conductors of electricity.

26 (Go on to the next page)
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38.  The diagram below shows an electric jug.

A special switch called a thermostat is used in the electric jug to control its
temperature. The thermostat swilches on the boiling system when the

temperature of the water in it lowers to less than 80°C and switches off when
the temperature rises to 100°C.

(a) Complete the grag)x’ﬁaow to show how the temperature inside the electric jug
changes over time/ 1] -

100 SR S ]
Temperature /
°C
80
0 >
On off - On Off

Thermostat

(b)" - What are two advantages of using this kind of electric jugl? [2]

27 (Go on to the next page)
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40.  Aishah wanted to find out whether liquid X is a conductor of electricity. The
diagram below shows some of the apparatus found in the Science Room.

= Heos
T ¥ E

Wires with rubber  liquid X in . battery famp
tubing glass beaker < -

nd’

(a) Draw a suitable set-up using an electric circuit for Aishah's experiment. (1]

(b)  Aishah drew the conclusion that liquid X is a conductor of electricity at
were two observations she maderthat helped her draw the conclusion {2]

28 {Go on to the next page)
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41.

Why does the bulb light up when the loop touches the curved wire? J}}’ )

42.  John wanted to find out the effect of gravitational force on different
maternials. Four identical balls of different materials were dropped onto a sand
. box. The impressions left by the balls are shown below. -

W*—r Sand Box

(a) Name one variable that must be kept constant in this experiment. [1]

(b)  Ideritify"the-balls wifhi the grearsst mass and with the smallest mass; [1]

(D Greatest Mass:

(i) Smallest Mass:

29 (Go on to the next page)
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43.  The pictures below show an ice tongs and a pair of pliers.

Ice Tongs Pliers

Label ?\fod, load and fulcrum in the pictures of the ice tongs and
plierq. 2]

44. Look at the 2 taps shown below

Tap X

(a) What is the simple machine used in the taps? {13

{b) erph‘(ap, X or Y, would require less effort to turn on? Explain your answer.
!

30 (Go on to the next page)
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@

(b)
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Gary used an egg beater as shown below. The egg-beater uses the
prinCiples of the wheel and axle and gears

Wirite the correct letier that represenis-the following. [1]

) Wheel:
1} Axle

How do the gears make work easier for Gary when he is using the
egg-beater? [1] _

31 ‘ (Go on to the next page)
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(b)-

(c)
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Raja used 2 different simple machines, Y and Z, to move different loads.
He recorded the mass of the load, the amount of effort used and the
distances moved by the effort and load each time.

L.oad (g} EffortusedinY Effort usedin Z
100 180 50
200 270 100
300 390 ?
400 480 200 ]
| Distance moved by Distance moved by the effort (m)
load {m) Y Zz
1.0 0.5 2.0
1.5 0.8 3.0
2.0 1.0 4.0
2.5 1.3 5.0

What is the effort used in Z when it is used to move a 300 g load? [1]

Based on the results above, individuall compare the amount of effort used
when machines, Y and Z, wemﬁ_tﬁé'different loads. [2]

Raja wanted to mop his rodm quickly. Which one of thigjabdve Simple
machines would he choose? Explain your answety [1]

EngwofPaper
B2 r(Gopmteihesiextpage)




EXAM'PAPER 2008

SCHOOL
SUBJECT

ROSYTH PRIMARY SCHOOI.
PRIMARY 5 SCIENCE
Siasidm

[TEENT]

' Q13 Q14 Q17

d)X. It has the mos imber of bubbles produced.

Page 1to 4 page 1



34)A would not survive.
Grains>mealworms->Animal A

35)a)The plant is placeélanwa dark cupboard so it can
photosynthes:s}bﬁ can onlyréspiy; and when it respire, it taken in
oxygen andg,gwes out carbon dIOXl ndg:arbon dioxide limewater

to prove thatiCarbon dioxide is given out durmg

T

. spwataon by t &plang% ﬁ
=, C)Yes. The%lmﬁkg&ug&vtel:‘_ﬁ ecat ise the plant
ca‘ﬁ:i)hotosypth’esm and'when it photosynthes:s ILtake in carbon

“Rkan, m:"r =
d ioxidé:an

39)a)
Temperature
°C 80 \ -

1 e e st e ey o

o

Cn Off On Off Page 2
Thermostat




39)b)To save electricity and help us to control its temperature the
water will be kept hot all the time.

Pliers %

44)a)Wheel and axle.

b)Y. It has a bigger wheel and effort moves over a greater
distance.

Page 3



45)a)i)C ii)B
b)Changes the direction of the force.

46)a)150

b)Madhine Y uses more effort than its load and machine Z uses
less effort than its joad.

'©)Y. The distance moved by the effort is less than the distance
moved by the load therefore it required lesser effort.
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